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General Instructions :
(i) All questions are compulsory.

(it) The question paper consists of 34 questions divided into four
sections —A, B, C and D.

(iii) Section A contains 8 questions of 1 mark each, which are
multiple choice type questions, Section B contains 6 questions of
2 marks each, Section C contains 10 questions of 3 marks each
and Section D contains 10 questions of 4 marks each.

(iv) Use of calculators is not permitted.
@ ug A
| SECTION A _ |
Yo7 G 1 @ 8 % FdF v F1 1 3% & | A% F7 & 70 IR fa%eq I3
7T &, 74 & 967 % GE1 & | GE l[deed gAY |

Question numbers 1 to 8 carry 1 mark each. In each question fou
alternative choices have been provided, of which only one is correct. Selec
the correct choice.

1. 3fg fgama aftetor mx2 + 2x + m = 0 & & ¥9H 0 &, al

(A) m=0
B) m==zx1
(C) m=0,1
D) m=-1,0
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If the quadratic equation mx? + 2x + m = 0 has two equal
roots, then

(A) m=0
(B) m==1
(C) m=0,1
D) m=-1,0

2. 3 &l B At uw ga & foeeft e fog P @ 99 W @i 8w
‘ WHAE 4T R ITg PR ITF Fra gl 2
‘ (A) 78 :
(B) 7 @t
(C) 25%H
(D) 5

The length of the tangent from an external point P to a circle
of radius 3 cm is 4 cm. The distance of point P from the centre
of the circle is

(A) 7cm
(B) 7 cm
(C) 25cm
(D) 5cm

3. A wH Sfia1 AB 900 % g W 60° T HIv FANG HLAl g, a famgadt
A 71 B 8 g9 W ©ih ¢ et Y@redt & st & wior Y 99 R

(A) 60°
(B) 90°
(C) 120°
(D) 30°
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If a chord AB subtends an angle of 60° at the centre of a circle,
then the angle between the tangents to the circle drawn from
A and B is

(A) 60°

B) 90°

(C) 120°

(D) 30°

Ife T 12 H. I @Y F i | I W S it 7918 443 . g,
@ I B I 8

(A) 60°

(B) 45°

(C) 30°

(D) 90°

If a pole 12 m high casts a shadow 44/3 m long on the ground,
then the Sun’s elevation is

(A)- 60°
(B) 45°
(C) 30°
(D) 90°

Teh U8 ol Uh o %ol 9T & | 3§ 5t faww g & o1 i
ek &

1
(A) | A
1
(B) 3
1
(C) 3
(D) 0



A die is thrown once. The probability of getting an odd number
greater than 3 is

(A)
(B)

()

= Wl O

(D)

6. e Tt wear 6 wiferat p B, @ 39 U1 & 7 B4 I WTRehar 8
(A) p-1 |
B) p
C) 1-p
1

D) 1-=
p

If the probability of an event is p, then the probability of
non-happening of this event is

(A) p-1
B) p
{ &) [

o

o= T

(D) 1-

7. TR P68 Hqmfgazls
(A) 8 -
(B) 247
(C) 6
(D) 10
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The distance of the point P(- 6, 8) from the origin is
(A) 8
(B) 247
(C) 6
(D) 10
8. At Tk WP F fous & MR A aed! il = 16 FHT B 99T HH
3 gee B % e wEw: 40 G 9w 16 @ §, @ e fodw
SIS @
(A) 20+
(B) 1245 &t
(C) 8413 uwfi
(D) 16@H

If the height of a bucket in the shape of frustum of a cone is
16 cm and the diameters of its two circular ends are 40 cm and
16 cm, then its slant height is

(A) 20cm
(B) 1245 cm
(C) 8413 cm
(D) 16cm
Qug q
SECTION B

TITHETT 9 14 TF JOF JH F2 HF & |

Question numbers 9 to 14 carry 2 marks each.

9. T fium wfteror & 9o 1a e
52+ 13x + 8 =0
Find the roots of the following quadratic equation :
5%x2 + 13+ 8=0
30(B) 6



10.

11.

12.

13.

14.

30(B)

&A1 a d1 b & WH Ta hIfT afE a, 9, b, 25 T GHI I S
3 |

Find a and b such that the numbers a, 9, b, 25 form an A.P.

QG gl § 92 g9 fil ften, Rrwhl dog 8 ot R, O g9 @
w3 w7 | A w2 g9 A B 5 @t 2, A o ga H B @
iR |

In two concentric circles, a chord of length 8 cm, of the larger
circle touches the smaller circle. If radius of larger circle is
5 cm, then find the radius of the smaller circle.

%5 O a1 I o T a1l fomg P & 999 W ) 0¥ W@ PQ a1 PR
i 7% § | g Hife fF QORP w wshig Tge 2 |

Two tangents PQ and PR are drawn from an external point P
to a circle with centre O. Prove that QORP is a cyclic
quadrilateral.

EAIA A3 A, 5 FEA A2 RS Tc & | 59 A § ¥ T e
qgTal FHehrelt STt 8 | 39 g & @hg T & 7 g <ht ITRIshar 3md
I |

A bag contains 3 red, 5 black and 2 white balls. A ball is drawn
at random from the bag. Find the probability of not getting a
white ball.

g o, S T @ Stds 125 9 9t B, % G Betel ol fe

X T 3 ST 11 8 | 98 Y6 9719 1 ¥ &% [1a I |

Two cubes each of volume 125 cm? are joined end to end to
form a solid. Find the surface area of the resulting cuboid.

7 P10,
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SECTION C

Y37 GEIT15 T24 0% JAH FToHT 53 JFHE |
Question numbers 15 to 24 carry 3 marks each.

15.

16.

17.

18.

19.

30(B)

TR
1 1

X x-2

% T T HIT |

Find the roots of the equation
1 1

X X -

0 3R 50 & = 6 guft fowm gerett 1 e 79 Hifse |

Find the sum of all odd numbers between 0 and 50 .

6 Wil B & Th g9 & hm € 10 9 H gl W Ta w g |
A W T T W@ EiEd & e @1 & 95 faRag |

Write the steps of construction for drawing two tangents to a
circle of radius 6 cm from a point 10 cm away from its centre.

1.5 Hl. oo U Ve U fowt & 30 #. h g W R | 3Tl ItE @
el & B &1 3= Fw 60° 7 | A # S w9 Hife |
[/3 =1.73 #ifSmy

An observer 1-5 m tall is 30 m away from a chimney. The angle
of elevation of the top of the chimney from his eye is 60°. Find

the height of the chimney. [Use +/3 = 1.73]

98 U §a S Fed fog P11, p) To=gl A(15, 5) @
B(9, 20) &l e a1t T@r@ve & T T g | p 1 7F Hft 71
I |

Find the ratio in which the point P(11, p) divides the line
segment joining the points A(15, 5) and B(9, 20). Also find the
value of p.

=8, Xx+0.2

=3, X£0,2



20.

21.

22.

' 23.

30(B)

fag HNT T fog A2, 4), B(2, 6) a1 C(2 + /3, 5) T WHETG
ERC LR AR

Prove that the points A(2, 4), B(2, 6) and C(2 + /3, 5) are the
vertices of an equﬂateral triangle.

A gl A giiREt 44 I qem 132 TR ¥ | W g w AW TW@
Hfr fred w95 39 B oRRE 3 AT % e 2
[n:%z—?ﬁﬁﬂl

The circumferences of two circles are 44 cm and 132 cm. Find

the diameter of a circle whose circumference is equal to the

sum of the circumferences of the two circles. [Use &t = 272]

T ggt i e arel g3 & @5 10 ¥ 7 | 39 A STl g3 gl
gag 9:00 ¥ ¥ 9 §9e 35 e % Uwd &F%hal §a whig |

[nw—%—z—EﬁﬁUj

¥ :
The minute hand of a clock is 10 cm long. Find the area
described by the minute hand between 9 am and 9-35 am.

22
I —
[Usen e ]

7 9t Brsan qen 5 fidt Aiers i 50 IetE wiel 1 TH g % FW W
wqma’raaﬁ?ﬁaémmw lwémmm;ufqaﬁaéaw

F1d i | [n—ﬂeﬂﬁm

Fifty circular plates each of radius 7 cm and thickness 5 mm
are placed one above another to form a solid right circular
cylinder. Find the total surface area of the cylinder so formed.

22
= —
[Usen - ]
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24, T W@ T, g smgll aun 37t sarg waw: 8 At qor 4 g

2, 3 fuemt t 3| v o e T e Iy w1 a8 |t
? | P i S=18 Fra Hif |

A hollow sphere of external and internal diameters 8 cm and
4 cm respectively is melted into a solid cone of base diameter
8 cm. Find the height of the cone.

@Ug T

SECTION D

I97 G&IT 25 #34 THIAF G F 4 HFE |

Question numbers 25 to 34 carry 4 marks each.

25.

26.

27.

30(B)

frfafaa wfie 1 x & g 8 HINT

BN S RO e,
x+1 X+2 x44

Solve the following equation for x :

1 S 1 _9 _
x+1+x+2_x+4’ Byl
T W 480 forft it gt forelt TR T@ ® T Wt B | A
TS d = 8 foRHl/AE w B, A 3 FE gt 99 %A W 3 W
IRk @ | Wl i g = T i |

A train travels a distance of 480 km at a uniform speed. If the
speed had been 8 km/h less, then it would have taken 3 hours
more to cover the same distance. Find the usual speed of the
train.

T AT At & <Y 9971 89 TSl T IHA 24 7, Y7 THh DS a1
109 9SI o1 I 44 8 | 39 GHG UG H IUH 10 ST T ITHA
FTd T |

The sum of the 4t and 8! terms of an A.P. is 24 and the sum

of the 61 and 10tP terms is 44. Find the sum of first 10 terms
of the A.P.

10



28. Tirg FifSm fr foreht amar formg & 9o w i=h ¢ el Ywedt Y wamsat
U BIAl 2 |
Prove that the lengths of tangents drawn from an external
point to a circle are equal.

29. Tig HIfT b 38 & aforg st Tqs it mHA-wmA i g9d g9 &
g T TG IV Fad Hdl & |
Prove that the opposite sides of a quadrilateral circumscribing
a circle subtend supplementary angles at the centre of the
circle.

30. 77 I e F RS A T e AR F G H1 ITH F07 60° B
3R 3H%h U FT TGTHT BT 45° 8 | 2 HI F=18 71 FIfvg |

[V3 = 1.732 i)
From the top of a 7 m high building, the angle of elevation of
the top of a cable tower is 60° and the angle of depression of its

foot is 45°. Determine the height of the tower. [Use +/3 = 1.732]

81. & = uEl = T Y G F@1 & | SH ITEl I G Rl
ATHA 5 T HH T HI ITFHar J1q T |

Two different dice are thrown at the same time. Find the
probability that the sum of the two numbers appearing on the
top of the two dice is less than 5.

32. Iq@Y9 ABCD & &3%ad T hiig e i A(-3, -1),
B(-2,—4),C(4,-1)da1 D@3, 4) % |

Find the area of the quadrilateral ABCD whose vertices are
A(-3,-1),B(-2,-4),C(4,-1) and D(3, 4).

33. 12 4l =TT 9 T g9 Hi HIg ST g T 120° N R0 AN
FA B | WG JAGUS BT AIGA @ HINT |
[ = 8-14 3R /3 = 1.73 &R ]
A chord of a circle of radius 12 cm subtends an angle of 120° at
the centre. Find the area of the corresponding segment of the
circle. [Use = 3-14 and +/3 =1.73]
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34.
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T diedl, Nehl 3918 24 T 8, Th YF o S o IMMHR il 3
o gefta i & sarg 28 ot qom 42 &t € 1| 7 30 9fd ofiet & =

ﬁwmﬁﬁmaﬁaﬁq&wwmaﬁﬁmlhzgm

A bucket of height 24 cm is in the form of frustum of a cone
whose circular ends are of diameter 28 cm and 42 cm. Find the

cost of milk at the rate of ¥ 30 per litre which the bucket can

hold. [Use &t = ~27E]
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